ﬁa\?\ho
N2

59¥9 IX© 0268 L0S (€1.2) 19EILOD LUONEULIOJU| SloW Jog

SYXdrL 40 Day
AIAIZDY

-abpapmouy] Aw Jo 1saq ay} 0} ‘e)e|dwod pue '1oalo'smn) ale

ON OCOCQO_QF urSJay} Pelels SIO.) PUB BIEP JBY) PUB ‘UORDEUIP PUB uoisiAJadns Aw Japun 1o aw

(r6L AoY)
€Jo | efeg
L=y wio4

poday pepanog | |

/
(

NOISIAIQ SVYO ANV 110
SVYX3L 40 NOISSINNOD avOodTIvy

8102/52/. 91eq Ag paledaid sem podas siyy jey) ‘Hodaz siy} 9)ew o} pazuoyne We | 1ey} ‘apod)
y¥s8(q Hoday JusWwuIanog) DL $801N0S3Y [RINJEN SBX3]| '€ 16 098 Ul paquosald sopjeuad Jepun alepap |
ebay eulpbuenay :ainjeubig ‘J1v0ldILE30
089°.2¢'9 SSL'SPI'ZL 585°120°L £€69'261'v1 zs2'e68'C) 266'v8T°El 185°019°S (silieg) 'STVLOL
0St'82€'L 0 0 0 Lpe'282'6 9z2'10.'6 GOS'vov'L ve O apnIH
€9.'1ve'L lZy'sie'e G86'LZ0'L 500'862'S 056°008° | 088'.ZL'C 0v8'656 (34 snosuejaosiy
0 0 0 0 0 0 0 (44 S}oNpold JUSAI0S
0 0 0 0 0 0 0 X4 seyideN [eads
080'96¢ Gz9'L9L 0 5/9'lS 209'vL zle'6le 29e'L0e (014 sjueougqn
0 0 0 0 120'0S 1£0'08 0 6l )00Ispaa |edlwayoosiad
295'9Le p6¥'091 0 282'85lL 0 0 08.'8Le 8l S[and jenplsay Yo
0 0 0 0 0 0 0 Ll |eoadg AneN
0 0 0 0 0 0 o] g1 D Iaxung
(o] 0 0 0 0 0 0 Sl asn AnN-UON 104 g#'G# SIO (2nd
0 0 0 0 0 0 0 14" asn AUlRf-UoN 104 3 SIO 19nd
0 0 0 0 0 0 0 €l asn Aulnn Jod o#'s# SIO 1eng
0 0 0 0 0 0 0 4 asn AjiiN Jod 13 sNo fend
0 0 0 0 0 0 0 Ly 18nd 191 adA]-euyiden
£81'66€ 12€'092°'L 0 8€9'08'1 o] 0 SL6'vSE oL 19n4 Jof adA) -sussoley
0 o] 0 0 0 0 o] 6 BUJ0SBO) UONBIAY
0 0] 0 9] ZeL'st eL'GL 0 8 saje|(isiq s|ppIN BUI0
910'8.¥ roLL96'L 0 195'696'L 192 0 6/8'€ly . A I2n4 |esalg
0 6z.'61 o] 62/'6Y 0 0 0 ] 11O Bureay awoy
0 0 0 0 0 0 0 °] ENESIEN]
sze'sel'e 0e/'26l'S 0 GO6'€Z.L'S 62L'vS0'L 178'500°L Zv6°'099'L 14 8Uul|osED JOJOW
0 0 0 0 o} 0 0 € auedold suEing
665",/ 60L°LOY 0 S5e.'20v 20ge°20L Lep'eol 058'v. 4 auelng
169'L voL'ge/ 0 P0oL'8el Gse'L 660°C st L auedald
YIUo 4o sauaAlag pasn painjoenue spualg Jors sidisooy Yluo jo
pu3 abelolg 1ang sjonpoid 1ns o3 uny Buiuuibag apo) |eLSieW JO BUWEeN
ndy abeiolg
SVYX3L INOWNY3g PYENEER] LLEEXO0E O d
8ELO-E0 ‘ON NOILYHLSI93H ¥0/2/ X1 'Wuowneaq 1S Ung §6/1 SSAIPPY
810T sung ‘HLNOW (sjelieg ul poday) uoneodiod jIgoy uoxxg :lojesadQ
/ selusuusy Joy juswaels suonesadQ pue poday AlYluopn



syd10ay-yy1

z66'78Z'ElL
Z66'v82 €l

= M

- oM
G/l'9 G/1'9 €z W3IHD ONI STYDINFHD '8 S1ONA0Yd HIvY
000'2y 000'zy 54 UM JT1 INOWNV3g 120
z8 z8 x4 M 02 0D1YN
085'¥82'LL 922'L0L'6 vz | pse'ess’t €e X1 XL- uoneso| IIgon
200'1L50'L zie'ele 0z 120'0S 6l veL'ol9 14 LEP'S0L z 660'C L X1 XL- uo11es0j 19O
8vL'L06 692'96% ¥4 L81'S1 8 Zrl'e8e v UM d¥0D 110 TIFONNOXX3

[B101 sjaueg sjpueg sjpueq sfaueg sjp.Leg JequinN wol4
oud paAIoay
S1d1303d TvN LoV
| afed uo 8€10-€0 ON uofensibay

uMoYS asoy! [enb3 810z aunr yuop uonelodio) jIqo uoxx]

1SN sieo] ydieoay

{rL61 AoY)
z abed

-y ulog

sausUsY Jo) Juawalels suopelad( pue poday Alyiuow

NOISIAIQ SYO ANV 110

SVYX31 40 NOISSININOD avoyivd

Jojesado



GS/'S¥L'TL

GGL'SvL'CL

6vE'661 6YE'661 £e UM 298€dd1 VS ONIGVYL X1Ng
6.8'855 6.8'85S 14 14 14- uoiledo] 190N
8EZ'0LL'L 8€Z'0LL'L 14 M 798€4d1 QILIAIN ONIAVYL I'IW'd
09Z'9v6'C 19t'206 ¢z | sz9'iol oz | 98L'LCL 8L | L2e00L° (o] XL X1- uo13e20} 190N
L8Y'¥OE'S 805'026'L 62.'6Y 9 | c06°c98 v | 620'vLL ¢ |eciesse L X4 X1- uol1eso| 19O
¥Ge'6L 969'8¢ 8L | 9s9'0v L v V1- uoie3o| 1iIgon
655'680°'C TR €z | 012509 v | 080'Lce z | vivsy L UM AIQ ST¥DINTHDOY1Id-d¥0D 110 N3
alez aLe'z 154 U A1 SONILYOD TYDINIHI-dE0D T1I0 W3
glLe'see gLe'see A W3HO (D3 A1) SN-ANVAINOD TYDIWIHD N3

jejo s|alieq HEIN=Te| s|alieg sjaleq s|pleg 12quinN 01 paJsanleq
oYY
S3IY3IAINZA TYNLOVY
| obed uo 8€10-€0 ‘ON uonjel}sifoy
umoyg asoy] |enb3 gL0z aunpr YIuoy :O_um._ou.hoo 1GOOI UOXX3

1SN s[elol Alsaaq

(pL6) “noN)
¢ abed

{-d WJod

SalauoY 10} JusWalelg suoljeladQ pue Hoday Ajyiuop

SVYXd1l 40 NOISSININOD avodTivy

NOISIAIQ SVO ANV IO

Jo1R19d0O



| \
Z1°089'LTY9 00°000'85t'6
2e0st'8LE’L vZ 00°000'288'L
£2°892' 'L ez 00°000'029'L
E P4 =
3 1z =
1€7080'96€ 0z 00°000'0YS
B 5L =
0€°295'91E 8t 00°000'S£5
B m -
= 91 =
Sl -
E 4]
& €l
- Zl =
B 1
29'781'66¢ oL 00'000'692
= 5 =
= 8 =
15°sL0'8LY . 00°000'900' L
E 3 =
= S =
18°VZE'EL'T v 00°000'6€6°2
E e =
ve'865°LL 4 00°000'LLL
10°269'L ! 00°000'c
sjpueg apoD Aoede) sjoueg apo) Apede) s|jsueg apo)| Aoeden sjpueg apo) Aoeden
l 4 € Z ¥ € 4 L
LLEEXOE O d
1 9Bed Uo MoyS Junowry fenb3 8EL0€0  "ONNOLLVNLSIOIY 042 X1 ‘Juowneag 1S uUng 66/ SSaJppY
ST 0Bed ML U UM SequuEND 910z eunp ‘HINOW uonesodio) [igoy uoxxg ojesedQ

(r261 A9y)
 obeg

LY wio4

Jodey papeuos [ ]

SauaUYaY Joj Jewslels suogesadQ pue poday Alyuop

NOISIAIO SYO ANV 110
SVX31 40 NOISSINWOD avodTIvy




